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58. Ms. Li opened&reti ment Mth a 6 -9+ I"'3l + ("‘2)3 X 1_.

deposit of $2,500. This account earns'4%

simple interest annually, How many ye What 'S\Ve of the exp

will it take her to earn $500 on her shown abbv

$2,500 deposit? _,%7(7)

QSQQy%é Floo .

60. Solve for x:

5@:’@ fS@Q 7x+3 - 2(2x + 1) =13



61.

A
I

&ijiné—‘flao
150 —90-
/aé a0 35:@

Y

In the figure above, line / is perpendicular
to line n. What is the value of x?

atv?fa.gﬁ 'tj.ﬁ__
62. The mean value of 8 numbers is 17. Three
of these numbers (9, 11, and 20) are
discarded. What is the mean of the 5
remaining numbers?

Agg= Sun#Fs

FHH=S
B =Sum
\ 7
SUM= 3% |7 — 30 +56
— 1236
9+l +20 =40
XY
3numg 136
— K0

? numbe (_S_SZE.—_C’.E

5T9% 0



63. 3%+ 7% =

31 r4q”

A 40 ?*aq 240

(€)2,482 59 +

D. 10,000, W—ll q w
/Q'—

65. Jamel works at a computer store. He is

paid an hourly rate(plush 15% - 15
commission on all computer produaf% he
sells. Last week, Jamel was paid $802.50
for working 30 hours and selling
$1,250.00 worth of computer products.
What is Jamel’s hourly rate?

@20 50/hr (= MX + b
B. $26.75/hr p= ch +_'86 froé
C. $33.00/hr

D. $37.65/hr
K02 SO = ‘3Or"+|00(g%®

%%32 =2 30rF+ I%7€

99
S 6l5=30r 30ESs




64. In one week, 1% inches of rain fell on
Monday, % inches fell on Tuesday, and
%inch fell on Wednesday. How many
inches of rain fell during those three days?

(=%
24

13
% — 53

X \6

1 = —vI=T

F. 5 4’) 3 234
)|

4 7 p, =

H. 31 3 355
2 =24

S5-32 7

66.

A revolving sign makes 1 complete
revolution every 90 minutes. If the sign
starts moving at 2:30 p.m., at what time
will the sign complete 8 revolutions?

E. 1:00 a.m. | MoV _ [rev
2:30 a.m. GOmin — ).
G. 4:00 p.m. She
H. 12:00 midnight I“e\/ 2 rev
| .EhS X hes
= IQ

230PM+13hrs
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Points Y and Z are not shown on the
—_—

number line above. I(f_x_ls the _m]_dm of

‘WY, and Y is the midpoint of WZ, where

on the number line would point Z

be located?

A. 2

B. 4
C. 6

8

'69. Ifnisaninteger and 3n + 3 is an even

number, which expression must also

represent an even number?

Sn +_1_Q)tO:O D.{-O?-.E
B. 4n + 5 QxE=€ | O E=O

C. 20 + 3 BXE £ E-.\-ﬁ::E

D. n+ 2 _
‘n ond 3n GrE muNpIES P2
cnd Yherefore aven, Thet
plug o 15 8d8. T4 4 rules O Ut

choices B *nd C,

T 0+ the r\Um\oer3‘l$bt\.&
Gnd W, O\Q ¥ 1S een
+|’\-g'£%re Snis DdA-
ThereFfore nis 0CCs

- OAL PIUs even is 088,
T\’\Q‘repofe. H’\\S rvles OU‘\’D'

a

VYo Opeirm Ais 4he answe’,
as his 04, then Sn 15 Odde
An odd P|US] (wl\ld’\ IS 6<3c\)

iS even



70. The product of two positive integers is 65.
T —
Which number could be the(Sum of the
two integers?

E. 5
68. 81_29 (B 18 factor_ poiys of 65
10 n G. 24 //7

H.52 VS =66
What value of n makes the equation

above true? 5 * l?) :

U Cross prodet
J\n=9*[0=90

OF I N SV

G. 5

E. 1

H. 101
9



71. If nis an odd integer that is less than
73. Between which two consecutive ﬁw_ls

—3.25, what Is the greatest possible " _
! g P the ﬁ'actlon-279-

value of n?
A. 2and 3 |
A, —1 B. 3and 4 %:7’7_
4and 5 7
B. —2 . 5and 6

A number less then_3 35

—Mis QRN S0 ho Japd

1 L "
23 B R N T
& a7
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A swim instructor used the box plot below
to display the distribution of the ages of
students who signed up for swim lessons.

M '
aceg '™

STUDENT:
M -y 3 M A'X

1 1 L | 1 1 ! 1 ]
I i 1 1 1 i I 1 i >

5 6 7 8 9 10 11 12 13
medion () isnot ave roge(AkA meon)
Which statement about the distribution of
ages is true? -
F—--\‘

E. The data contain an outlier. \ON& S0 LN
F. Approximately half the students are
éxactly 9 years old. Plot does noﬁ;&o“

J‘_
w:;n/a(gw one-fourth of the G‘;
students are at least 10 years old. ~3

H. The interquartile range is 3 greater
than the range of the data.

mox—min = 13-7 = q
The VfFeronce between gand 21*
s 3 kot the TBR S 2less hO“'Squ (a

74.

A customer wants to buy a pair of
hiking boots.

 The original price of the boots
85.75.] ./ 5f . 3S

2, 357

- S
ering a 15% discoubon

X
e The store Is®
all boot purchasesru Unds#17). 89

e vy
QTHQ‘ customer has a coupon for an

additional 25% off the sale price.

e The tax rate is 8.5%. 73 -%q ’(475 =

'OO7D +Q .Solo = 10%. 570 ?0%.@71:)5 sY.67
What is the final cost of the boots,

including the tax, to the nearest cent?
E. ¢55.82 > H:G7x [LOBD=

$59.08 S9. NS
@ssg.n f
! $63.17 ounds VP
=103¢ —
102.570. 055 = 1.0%5



2 —_—e\2 2
75. Sheila is saving money for her summer 77. 3° + (78) + 22 =
vacation. She starts the summer with a 3-8+ 2)

balance of $90.00 and plans to save 15% q+G4 +Y4 - ?_Z
q

of her earnings each week. She earns the A. —60 (‘ 3)2

same amount each week. After 12 weeks,
Sheila has saved a total of $472.59. How
much money does Sheila earn each week?

473 zq LL
@, $212.55 9000 9

B. $26255 ———
C. $302.55 32 ST [3Weells S D. 68

D. $312.55 232.59=/3=31933g

319935 = {Zpcarmings
Qa,rhinas =3l .1‘33“5";_99. S alRSS
S .




76. x:35 = 20:28

For what value of x is the proportion
shown above true?

X _20=5
®s =T 7
G.16 X -5
H.13 %5 7/
I%x =385*5
— 25 -
Y:é '7"®

78. A soccer coach purchased 15 pairs of

cleats for team members and spent a total
of $805.95, including tax. If the tax rate is
8%, what is the the price of each pair of
cleats before tax?

E. $40.43 1005137 =10}
A 10y, =108
(E) $49.75 o7

ﬁ' i:i;; [ets re,VQrse.-\mtp rek
10% y - 905.95
L N4 00 10§ ks
¢ X=ws.95x]ag I g
| 108 “H
49 ~¢—TH6. 95 |
s wu,w 746255 '5= TR
2
l'hib lsPQII"S
=49, 7§

hW?
P



79.

The numbers m, n, p, and g are different,

and each is equal to one of the numbers

1,2,3,6,0r12.1f2m = 6 = +n = p,

2
what is the value of p?

| = e
A.ZGIVQJ’\C\/ r Hep

D. 12 |esefoce Yae 3(«;’(63*

ot () be 'rec:l
Ejo.’eﬁic-l-hef m@@he Fg))ﬁné
the Smallest (ol Gent mov ke
poired With the lolrjuﬁ- vahue, D

B.3 IF I (eMGS \)\ﬂd‘ff‘ﬁ
6 then }pCir\Uﬁo\'S@S Vv .

1+ [s (fews Hhen that L. Should

try the |0;\;—e5’f s&the choices pm\idEc]

in the 10N with § bemse 1}

s Pca'\red w'th %_, Thg_reﬁro,

—i—-'f- @r@ =P« 60 P:@

TWQ.\(;R, m =3 bind 9,= |
Cho, ce & s nat use

81. A student uses Spinner R and Spinner T to

generate a list of two-digit numbers.

SPINNER R SPINNERT

Do e

3 Qmp.
ND{‘Q:T" T S
& r 1 3 ol STONY N
o T B0 S

Spinner R determinés the

place, and Spinner T determines the digit
in the ones place. What Is the probability
that the two-digit number determined by
spinning each spinner one time is a

prime number?

SOneer ode:jih

)32 Su,...,45%

Primes possbole in Yhe rnoyt

B. 5 of Pne P;.Sﬂ'xf; “‘a
12 44,43 47,497,304

3, V7,4, 43

c,rassed out numbers are not

posSblL with gty RIT

5o there art 6 4o ~diat

POme namioes po&SsbIQ

p using 3T
MD"%‘*—FI‘M—&;%’-




ogeokec Hhon 0.005
{0.1, 0.01, 0.001, 0.0001, 0.00001}
15 ¥ 0,006
If a person chooses a number at random
from the set above, what Is the probability

that the number is less than 0.005?
—

P.: £ kssban .
H= total

m

6

win ulw ulnvy u=

C.

D.

o |w

[y
NIU'

olnn unlw



82.

o
ARl
As 130° s

180 —4g— o0 =3z
Lines j and k Intersect at point Q, and A is

a straight . What is the value of x?

E. 55
F. 45

@)3s

H. 30

A basket contains red balls, green balls,
and white balls. There are 12 red balls in
the basket. The probability of randomly
choosing a red ball is 1 in 3. If the
probability of randomly choosing a green

- -
ball ls_}_i_q_g, balls are in
the basket?

E. 3 =5 tokloals
8

F
@9 la:.};rofal (Y
H. 16 36 —total bells

lar (3e-13—-q=Iswhite)

qa Par'a.e.n :-‘-ng-_—:@
+? w . 1

36total




83.

Which statement must be true if x is a
,——-l-'-

whole number greater than or equal to 17

le—“ma.l{g'ﬂ\
x+1 x+2 & *§~/
1 1 ' \
B. < —~{= X
x+1 x+2 2°3
1 1 Lol X
c. - >1 =
X+1 x4+ 2 a 3\
L vt X
1 1 - =
D. - >
x + 1 X + 2 o\

85. It took Lars 2 hours to ride his bicycle
48 kilometers. What was his average
speed in miles per hour? (Use the

approximation 1 mile = 1.6 kilometers.)

A. 1.5
®1s02hr _lh
C. 30.0 i T
D. 38.4 Wc[a. need %0 invert thS

QU | E \

lhr x|- .—g\qghrs
24 4o
SELED)



86. Integer x is evenly divisible by 3. Which

expression below is also evenly
divisible by 37

all divisible by 3
E. 2¢ + 1—~hot dMSiok bY 3

F. 3x - 5
=

G-4X—J._

4x + _6__"'18 &U\Sible \’
@ \_’/_/

The arrow starts on Space P and moves
clockwise around the circle. It moves
through one space each minute. What
space will the arrow point to in

100 minutes?

E. R thereare 65paces
E S [00=36=16 kemander 4

@T count Y Spaces Aom P @
H. U Hhot (‘leeS @-; Q, S,




87.

Lamel has a jar containing 6 red chips, 10
blue chips, and 4 yellow chips. If he
removes one chip at random, what is the
probabllity that it will not | be red?

A4 Gred
5 \ © blye
7 _Hyellow
@ 10 20 Yolel

c % not red is klve cmé\'cllow

p. 1 blue end Yellow s 1Y chigs

5
pnoh-cJ - -l:l- '-7'
0

89.

Mei-Ling is one of 6 members of a
committee. If 2 members of that
committee are selected to go to a
conference, how many of the possible
Ell_rg_of members would include Mei-Ling?
there are WO goYS
@E TheF sk s\oris Yollen vp
c. 10 MMe-ln
D. 12 Thik oy lecves Smewbers
for Hesecod dot
So Mer ~Livg Wikh occ\, respech vt
other MembLr (owpn®S pafs.
Thererore (X5=



90. Ifm = Sandt = —1, what is the value
of. 6 -82-10 ,

2m + 4(3 - m)
@-9
F. -1
G. 1
a3t 68 B) e
oru 3y | 108

169

92.

L con F be OVEX heve
e~ L2

6

& 4

£

N L

-+

oL |

D *+XR —
Y

i

On the number line above, point L (not
shown) is located on line segment JK so

that JL = %LK. What is the position

of point L?
Jk=6--4=6+4=10

E. 2 JLrl =JK
RIS

JL 21K, substifute OL
G. 2 7~\_\¢+L\: 10
H. 4 1%(\ = 10
5w =05
1\0 L= Q;mn&lL A
then 6-6=0D

thercfo (c



91.

56° y

In the parallelogram above, what is the

value of x + y?

A. 112 The M§|es In o pardlelogum

B. 124 equg %0’

;:: “The °PF°5H'Q G-Vljlds tn &~
parsllelogruv are €qvo)

Therefyre iF Pis ‘Sc;so is R

Therefyre Xy must be

360—5¢ 56D

93-

Josef and Mai divided some stamps
between themselves. Josef got 60% of the
stamps. Ifreceived 500 more
stamps than Mai, how many stamps did

Josef receive?

A..300 Shce Tosef got-GO'e
B. 800 thea Mai ﬁo-l—blbnfo

ThereRyre Hhe 500 more
O 2500 I.Smpc thet— Joser cleived
§ Goly -L40 0 =20,
IF500 ;s oy la=20% o the

5 0% Hhe st
oo is lodl omg

JoseF 3n’r 607s SO

60 . 2500 =(500
(00



94.

Pe grees W\
Civele Is 30 fl_é.. -

The shaded sector of the circle shown

above has an area of 18z square feet.

What is the circumference of the circle?

D
E. 144z ft P‘c‘\fc\“’- =

Lhiy =
@24::& ’éh‘m\f— R

Acirae= |V x 3=I4Hw

G 18R 3 gy

=14
C=Qyr =

H. Oz ft ==

96.

A scientist mixed three chemicals, R, S,
and T, in a glass contalner. The amount of
R is 3 times the amount of S, and the
amount of T is % the amount of S. What is

the ratio of the amount of R to the

amount of T?

E. 1:18 K=2¢
@18:1 RT—E
R_3 =32

T LS

See 1:&10% Roording division
by a Leachion NI



97. Ken has k video games, and Jeff has J
video ga-n;es. If Ken gives 6 video games
to Jeff, Ken will have twice as many video
games as Jeff. Whlchweﬁtion shows the

relationship)between k and j?

CLEAERT)

95. Which graph represents the solution to

B. k-6=2]+6

C. 2(k - 6) =j

>
8 4 D.2k -6)=j+6
KQI‘\ S L’\ "H'\\ IS-H\Q’
2
3 4 [Lméwgggso k-G f‘bfsecHL{ﬂ

s e

N a’ei;? \)rs Yorts G o It (e

> 5 4 en has Jice JefF
j MuSF userevised KandiJ):

k=6 =24+ Q)




98. Yesterday Sarah read 15% of her entire

book. Today she read @nother 17% of the
entire book. In lowgst terms, what fraction
for her to read?

15 100/ sl poga

=35 47 400
g 3 32}&'43 — 52)
- 10 _/
6 3 Ie,pf‘c
25 50
H. Z

(pO
/

100. Kim jogs 8 kilometers in 1 ho( joovhv

40 minutes. At thhow many
rmeters does she jog per minute?
el

éOOB N

W\\'\' (,O“V.Q(b\b '\f\?
G. 800 q KY'V\ \(jes
H. 8,000 :LDOVV\\T'\

@_000 M= L)

1000m = 4 Il.m
2 Ln. CZO -4
2.00mn — j_?b’y\r\-.n




101. For what value of x is the equation

g_r=|3(4 - 2x) - 1 true?
e ey
11

99. {1,2,3,4,5,...,198,199,200} 31

15 _(‘
C| -_
How many members of the set shown 7 lyeor 7 tCr'

ow <
above are multiples of 6 but not 65 RS i
multiples of 9? Heve's one Y.

A 11 consider some mulkidles ofGand 9 'X 2'0 iSG—I Z_.X) g

.13 0:6,12,13 2430,3¢ . GO Ox —
o AT, 3
(py22 50 LéM(e,ﬁ)::Ls . X = 7 5 -30x
AN Lt 20 +3 Ox

1__3_33 Comvin ks D

o nder doesnt mafter )&
20 30 the oz
) 0 N e
. U O from above mulhples of
13 help us ruleo fmu“ plex
of ‘l'l'hd’f af¢ alreqd \5
mulrples of 6

33—-11@



102.

hd

@]

R /
an

130'\ M

3"\

The diagram above shows line

segment RS intersecting a rectangle. What
_\-l-"\..____,_
is the measure of angle y? {

®r
-~ 130°

G. 50°
H. 40°

O

S

all arﬁles ore (Y

!\llne,ns 1ﬁcfy,
M0 - 120=50

—‘%’1@ SUM 010 +the mnﬁl&& of o Q=10

Q«.appé‘ Ime fu\?,
130

< 20 kokol
ESSAY LENGTH /
umber o@ Nurhber of Essays
<100 } 6
| 100-250 (a7
251-500 11 /
>500 + _J

Eachis ot lost 100 21
All 150 students in Grade 8ata ool are ,

assigned to write an essay on the same
topic. A teacher records the number of
words in a random sample of the essays,
as shown in the table above. Based on this
sample, how many students in the entire
grade would be expected to write essays
with at least 100 words?

1;&4.

A. 20
B. 30

c. 100 2_,1-]




104. Which percentage Is n value

to 0.0099? "l"\
n.oooo = —ﬂz

——
E. 0%

F. 0.1% j_
1% el ::
@100% 460 @



105. The manager of a shipping company 106.
recorded the welights, in pounds, of the
last 9 packages the company shipped. The
manager displa;yed the distribution of the T
weights in a box plot with the five-number
summary shown below:

21t
e minimum: 29
o first quartile: 31 k3
e median: 42 3 T _
e third quartile: 73 respecied sidelenofths are proportional
e maximum: 98 In the figure above, the shaded le
is similar to the outer rectangle. The |_
Which statement about the distribution of length of the outer rectangle is 4 é{' and
weights is supported by the box plot the the perimeter of the outer rectangle is
manager created? Q4 14 feet. If the width of the shaded
A. The minimum, 29, is an outlier. X ) rectangle is 2 feet, what Is the area of the
B. The maximum, 98, is an outlier. % shaded rectangle? Wo
C. The interquartile range of the _ Lo=H
datais 11. no, i+'s Y Pecimtirg = 2lo+2Wo
The interquartile range and the median A= 20 2, =T+ 2\
e equa"' ! f'!don Q$ Moot Q - ZJ\A)b \"So =] 3
Y2=4z H= — Lo_L 4 L
2w i N, ~Wg 3;_%5_
TOR = Qy- By x73-3L:42 Uy =3Ls Ss-3
. = 5
249 and 13 ae He min 6rd max S 2.1
rhetfore by definition they ac IR

not outliers



1
5=sqft
(:) 3 .

F. 6sqft
1

GI 9""'5 &
3 q

H. 12 sq ft



107. A rectangular concrete driveway is 30 feet

long, 8 feet wide, and G.thick What

Is the volurne of the cor‘i:rete?
A 44 cu ft Unit Cm\'/ers, on’
. 48 cu ft 'jQS
@120cuft JO*xY=G =
. 240 cu ft | l
llfn ho! O
- Ox Y > 2 _
Q"h -"‘"""'QL 3 :_ — m

109. Vicente and Carlaleach ran 8 laps around
a track. They started at the same time

and place. If Vicente ran 1.5 times as fast
as Carla, how many laps did Carla have
left to finish when Vicente finished

his 8th Tap?

-~ 2= 3
-L1 _ 22
ﬁ % -3
d\.\/'ls']()h ba o g:-c‘dr:\()ﬂ -IS
Mu\+iplico\1c'ion bﬂ it rec'.proca\
his is AVA (CE

KQQP C"Oﬂsﬁ FT.P"



108. At a carnival, visitors can win a prize if an
employee cannot correctly guess their
* age. The employee records the first 15
ages that he guesses one Saturday. The
box plot shown below displays data about

the ages he recorded.
— I —

7 8 9101112131415161718

What is the interquartile range of
\ .
the box plot? ' Qp\’

E. 7 1G?\= &1-—30 ;L?—?:@
9

G. 10

H. 11



110. At West College, students are randomly
assigned to one of 20 dormitories and one_
of 6 dining rooms. Kharleen likes 6 of the
dormitories and 2 of the dining rooms.
What is the probability that she is

assigned to both a dormitory( and\a dining
room that she likes?
-HAQ'; Mﬁmns/ mu\kp\"cp{'}m
@ 10%
F 12% \lles
G. 19% ./ .
H. 38% G X 2" - :L__.
ZD\ G A0
l%—o’m\ 10

koo ex

LHO miles sy Same M

S WO rote, oS 2,40 miles
111. A train travels 2,200 miles from Phoenix

to New York City. The train covers the first
240 miles in 5/hours. If the train continues

—
to travel at this rate, how many more
hours will it take to reach New York City?
Round your answer to the nearest

whole hour.

A. 46 2200

B. 45 — 240D
C. 43

(o) 1960 m’JQsD lefi

I.l
1960 . She _-2308 *Vaso,0
Momies MY — 0

40,3 rounds to@ 142




112, What is the least of four consecutive
integers whose sum is 58?7

E. 1 fyis an]nl—eaerm

F 2 x+1.is5 Hhendet

6. 12 (alka Consecutive)
13 m\-eﬂex

SD 4 Conse Lufinve. mi‘&:f.rs ove

><+L
%¥+2,
X+3

-I-ka_ra.%re.
x+xHArxr>x+3t 0%
Hy "Q 59

i ©



113. ‘@ltd i, Sovalue isineluded 114, Chanelle selects a marble from a container
> and then returns it to the container. When
o 1 1 3 2 3 e
T '_2) i she does this 3 times, the probability of
. 1
Ipossibl e values ?i x are indicated by choosing a red marble all 3 times is 1E"

the shaded part of the number line above, Based on this information, what is the

which number line best shows all possible probability of Chanelle choosing a red

. 1 PN .
values of._l_') T __2 ;‘Ssg :%C[-:i marble the first time she
A. | <« 2" . — > selects a marble?
0 1 2 3 9 _/_L
&‘% X .‘_21.5 - Pr?-d —‘}0“"&‘
B. <! 1 & L Y N T > . .
Co T 72 fred FHmesis
1Lex{ 1 — L -
C. < 1—7:_2:) — > % 36 ot “igel ol = oS
g_ 1 2 3 Q—kmﬁ red amj red md ('QCD
® ZTEXLYD 5 L L
) i ———t—t———+—> \3 -
o L\ 2 3 @ ot ,2%
2 Heelor
° hﬁd‘-":ZfLé
-3 —-
) g -

~
-

Frea
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